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Figure S1 The image of internal reference ACTIN gene. The left is the amplification curve,abscissa
is the number of cycles.The right is the melting peaks, abscissa is the dissolution temperature,the

product TM value is 80°C.
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Figure S2 The image of target gene GPX. The left is the amplification curve,abscissa is the number
of cycles.The right is the melting peaks, abscissa is the dissolution temperature,the product TM

value is 77°C.
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Figure S3 The image of target gene PPO. The left is the amplification curve,abscissa is the number
of cycles.The right is the melting peaks, abscissa is the dissolution temperature,the product TM

value is 80C.
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Figure S4 The image of target gene P5CS. The left is the amplification curve,abscissa is the number
of cycles.The right is the melting peaks, abscissa is the dissolution temperature,the product TM

value is 76.5°C.

100+

75

dRn
=
I
ddRn/dT

25

Figure S5 The image of target gene NCED. The left is the amplification curve,abscissa is the number
of cycles.The right is the melting peaks, abscissa is the dissolution temperature,the product TM

value is 77°C.
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Figure S6 The image of target gene G302. The left is the amplification curve,abscissa is the number
of cycles.The right is the melting peaks, abscissa is the dissolution temperature,the product TM

value is 84C.



